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Insert your solutions only in the indicated places
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Question Two) The value of E at P(p = doip =A40", p= 3) is given as
E=100a, - 2008, + 300&2(%7). Determine the incremental \l/\_g@rﬁ_?é\qyired to move 20uC a

distance of 6xm in the direction of E. (3 marks) \',
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< xo%J) Question Three) Given the electric flux density D = 2xa, + x?a , +6z°a, (C/m 2).

a) Use Gauss’ law to evaluate the total charge enclosed in the volume 0<x <a,
O Y e @y O 22 s
<D :’IOV/ a

b) Find the volume charge density at x = g, P 5 Z

g. (8 marks)
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Question Four) A surface charge density 107°(C - (assumed uniform) exists for zr:J 0,

~30=x<50, -0.05<y <0.05. Using reasonable approximations, find E(0,0,2z) when
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Electromagnetic Theory I (Equation) Sheet and constants
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